Imprinted_Promoter (#regions: 60) — RRBS regions classified as: stronglyHypermeth

(should be read as <row> is stronglyHypermeth when compared to <column>)
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Imprinted_Promoter (#regions: 60) — RRBS regions classified as: hypermethylated

(should be read as <row> is hypermethylated when compared to <column>)
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Imprinted_Promoter (#regions: 60) — RRBS regions classified as: insignificant

(should be read as <row> is insignificant when compared to <column>)
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Imprinted_Promoter (#regions: 60) — RRBS regions classified as: hypomethylated

(should be read as <row> is hypomethylated when compared to <column>)
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Imprinted_Promoter (#regions: 60) — RRBS regions classified as: stronglyHypometh

(should be read as <row> is stronglyHypometh when compared to <column>)
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Imprinted_Promoter (#regions: 60) — RRBS regions classified as: inconclusive

(should be read as <row> is inconclusive when compared to <column>)
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Imprinted_Promoter (#regions: 60) - RRBS regions classified as: lowCoverage

(should be read as <row> is lowCoverage when compared to <column>)
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Imprinted_Promoter (#regions: 60) — RRBS regions classified as: noCoverage

(should be read as <row> is noCoverage when compared to <column>)
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